## Bid # 26-24 Bartlet Street Area Reconstruction

				209 Gosport Rd		28 Loon Hill Rd.			66 Silva Lane		59 Jefferson Ave.	
				Portsmouth, NH 03801 (603) 427-2556		Dracut, MA 01826 (978) 454-8850			Dracut, MA 01826 (978) 937-0909		Salem, MA 01970 (781) 592-8121	
				Robert MacDonald		Gary Labonte			Alex Bail		Steven A. Granese	
				bob@macmetalsnh.com		glabonte@albanese	bros.com		abail@albaneseds.com		info@granese.com	
ITEM#	EST.	UNITS	ITEM DESCRIPTION	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ľ	TEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL
201.2	OTY 1		Stump Removal	\$1,500.00			\$500.00	\$500.00	\$750.00	\$750.00	\$500.00	
202.21	2000		Removal of Existing Sidewalk	\$45.00			\$25.00	\$50,000.00		\$40,000.00	\$15.00	
202.22	1200	SY	Removal of Existing Driveways and Aprons	\$45.00			\$20.00	\$24,000.00		\$24,000.00	\$12.00	
202.3	25*		Fill and Abandon Pipe or Structure	\$525.00			\$1,000.00	\$25,000.00		\$4,375.00	\$250.00	
202.4	100*	LF	Removal of Existing Pipe (as Directed by Engineer)	\$55.00			\$100.00	\$10,000.00		\$2,500.00	\$10.00	
202.5	18	EA	Removal of CB, Drop Inlets, and Manholes	\$3,450.00	\$62,100.00		\$2,000.00	\$36,000.00	\$1,000.00	\$18,000.00	\$400.00	\$7,200.00
203.1	3125	CY	Common Excavation	\$35.00			\$20.00	\$62,500.00		\$62,500.00	\$45.00	
203.6	100*	CY	Embankment in Place	\$125.00	\$12,500.00		\$54.00	\$5,400.00	\$70.00	\$7,000.00	\$45.00	\$4,500.00
206.19	25*	HR	Common Structure Excavation - Exploratory	\$500.00	\$12,500.00		\$1,100.00	\$27,500.00	\$1,000.00	\$25,000.00	\$65.00	\$1,625.00
206.2	100*	CY	Rock Structure Excavation	\$395.00			\$100.00	\$10,000.00		\$55,000.00	\$300.00	
211.1	1	LS	Vibration Monitoring Analysis	\$48,000.00			\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00
211.11	225	HR	Vibration Monitoring Services	\$85.00	\$19,125.00		\$130.00	\$29,250.00	\$25.00	\$5,625.00	\$50.00	\$11,250.00
214	9100	SY	Fine Grade (Roadway Base)	\$30.00	\$273,000.00		\$2.50	\$22,750.00	\$20.00	\$182,000.00	\$8.00	\$72,800.00
214	3600	SY	Fine Grade (Driveways and Sidewalk Base)	\$35.00	\$126,000.00		\$7.50	\$27,000.00	\$2.00	\$7,200.00	\$20.00	\$72,000.00
304.3	250*	CY	Crushed Gravel in Place (Roadway Base)	\$50.00	\$12,500.00		\$106.00	\$26,500.00	\$70.00	\$17,500.00	\$32.00	\$8,000.00
304.3	350	CY	Crushed Gravel in Place (Driveway and Sidewalk Base)	\$105.00	\$36,750.00		\$133.00	\$46,550.00	\$70.00	\$24,500.00	\$52.00	\$18,200.00
306.112	9250	SY	12" Reclaimed Stabilized Base	\$12.50	\$115,625.00		\$3.00	\$27,750.00	\$15.00	\$138,750.00	\$8.00	\$74,000.00
306.212	2650	CY	Rehandle Reclaimed Based Material	\$45.00	\$119,250.00		\$100.00	\$265,000.00	\$20.00	\$53,000.00	\$40.00	\$106,000.00
306.36	1250*	TN	1.5" Crushed Stone (Mixed w/ Reclaimer)	\$49.00	\$61,250.00		\$42.00	\$52,500.00	\$25.00	\$31,250.00	\$35.00	\$43,750.00
403.11A	1900	TN	Machine Method, Binder (2.5" or 3.5")	\$120.00	\$228,000.00		\$116.00	\$220,400.00	\$140.00	\$266,000.00	\$115.00	\$218,500.00
403.11B	825	TN	Machine Method, Wearing (1.5")	\$130.00	\$107,250.00		\$116.00	\$95,700.00	\$155.00	\$127,875.00	\$135.00	\$111,375.00
403.12A	265	TN	Hand Method	\$230.00	\$60,950.00		\$250.00	\$66,250.00	\$250.00	\$66,250.00	\$265.00	\$70,225.00
403.12B	1	EA	Speed Table (Incl. Pavement Markings)	\$10,500.00	\$10,500.00		\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00
417	700	SY	Cold Plane Bituminous Surface (1.5")	\$15.00	\$10,500.00		\$3.00	\$2,100.00	\$15.00	\$10,500.00	\$10.00	\$7,000.00
520	200	CY	Class B Curb Backfill	\$150.00	\$30,000.00		\$267.00	\$53,400.00	\$200.00	\$40,000.00	\$180.00	\$36,000.00
522.5201	5000	U	Allowance - Land Survey Monuments Lost	\$1.00	\$5,000.00		\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
563.24	50	LF	Bridge Rail T4 (Black)	\$1,000.00			\$756.00	\$37,800.00		\$37,500.00	\$1,000.00	\$50,000.00
592.12A	35	SF	Segmented Block Retaining Wall	\$300.00	\$10,500.00		\$310.00	\$10,850.00		\$7,000.00	\$150.00	\$5,250.00
592.12B	130	SF	Form Lined Reinforced Concrete Retaining Wall	\$150.00	\$19,500.00		\$170.00	\$22,100.00	\$200.00	\$26,000.00	\$200.00	\$26,000.00
603.8221	500	LF	6" Dia. HDPE Drain Pipe	\$275.00	\$137,500.00		\$181.00	\$90,500.00	\$200.00	\$100,000.00	\$145.00	\$72,500.00
603.8221	675	LF	8" Dia. HDPE Drain Pipe	\$295.00			\$100.00	\$67,500.00		\$67,500.00	\$200.00	
603.8221	570	LF	12" Dia. HDPE Drain Pipe	\$250.00			\$180.00	\$102,600.00		\$114,000.00	\$220.00	
603.xx	7500	U	Allowance – Repairs to Existing RCP Pipe	\$1.00			\$1.00	\$7,500.00		\$7,500.00	\$1.00	
604.0007	9		Poly Liner for CB	\$300.00			\$200.00	\$1,800.00		\$2,250.00	\$150.00	
604.0008	14	EA	Eliminator Oil/Water Separator	\$500.00	. ,		\$550.00	\$7,700.00		\$8,400.00	\$500.00	
604.0009	2	EA	Core & Boot Existing Drain Structure	\$1,950.00	\$3,900.00		\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00

Albanese Brothers Inc.

Albanese D&S Inc.

N. Granese and Sons, Inc.

MAC Construction

604.12	11	ΕA	New Catch Basin	\$14,900.00	\$163,900.00	\$4,500.00	\$49,500.00	\$7,500.00	\$82,500.00	\$8,500.00	\$93,500.00
604.12	11	EA EA	New Drop Inlet	\$14,900.00 \$15,900.00	\$163,900.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00
604.32	6	EA	New Drain Manhole	\$15,900.00	\$95,400.00	\$6,000.00	\$36,000.00	\$8,000.00	\$48,000.00	\$10,000.00	\$60,000.00
604.5A	10	EA	Adjust Existing Structures (Drain, Sewer & Tele)	\$2,000.00	\$20,000.00	\$550.00	\$5,500.00	\$550.00	\$5,500.00	\$250.00	\$2,500.00
604.5B	10	LF	Reconstruct Existing Drain Structures (Add'l Risers)	\$2,200.00	\$22,000.00	\$440.00	\$4,400.00	\$500.00 \$500.00	\$5,000.00	\$250.00 \$250.00	\$2,500.00
604.62	10	EA	Provide and Install DMH Frame & Cover	\$2,200.00	\$22,000.00	\$1,800.00	\$18,000.00	\$1,000.00	\$10,000.00	\$800.00	\$8,000.00
604.72	14	EA	Provide and Install CB Frame & Grate	\$1,600.00	\$22,400.00	\$1,100.00	\$15,400.00	\$1,000.00	\$14,000.00	\$800.00	\$11,200.00
604.74	14	EA	Provide and Install Inlet / Grate Combination	\$3,900.00	\$3,900.00	\$1,100.00	\$13,400.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00
607.9	75	LF	Remove & Reset Existing Fence	\$100.00	\$7,500.00	\$1,100.00	\$8,625.00	\$1,000.00	\$9,375.00	\$100.00	\$7,500.00
607.9	10	LF	Remove Existing Fence & Provide New End Treatment	\$300.00	\$3,000.00	\$266.00	\$2,660.00	\$125.00 \$125.00	\$1,250.00	\$150.00 \$150.00	\$1,500.00
608.24	2000	SY	4" Concrete Sidewalk & Pads	\$110.00	\$220,000.00	\$200.00 \$77.00	\$154,000.00	\$75.00 \$75.00	\$1,230.00	\$85.00	\$1,300.00
608.26	75	SY	6" Concrete Sidewalk (ADA Ramps)	\$125.00	\$9,375.00	\$94.00	\$7,050.00	\$100.00	\$7,500.00	\$175.00	\$13,125.00
608.2x	400	SF	Rail Support Slab / Monolithic Sidewalk	\$75.00	\$30,000.00	\$34.00	\$13,600.00	\$75.00	\$30,000.00	\$173.00	\$76,000.00
608.54	330	SF	ADA Detectable Warning Tile, Cast Iron	\$49.00	\$16,170.00	\$52.00	\$17,160.00	\$75.00 \$75.00	\$24,750.00	\$250.00	\$82,500.00
608.6A	4*	EA	New Concrete or Granite Steps	\$900.00	\$3,600.00	\$2,300.00	\$9,200.00	\$2,000.00	\$8,000.00	\$3,100.00	\$12,400.00
608.6B	4*	EA	Reset Existing Granite Steps	\$250.00	\$1,000.00	\$740.00	\$2,960.00	\$1,400.00	\$5,600.00	\$1,200.00	\$4,800.00
609.01	1300	LF	New 5" Straight Vertical Granite Curb	\$65.00 \$65.00	\$84,500.00	\$740.00	\$93,600.00	\$65.00	\$84,500.00	\$55.00	\$71,500.00
609.01	250	LF	New 5" Curved Vertical Granite Curb	\$85.00	\$21,250.00	\$92.00	\$23,000.00	\$90.00	\$22,500.00	\$75.00 \$75.00	\$18,750.00
609.5	2100	LF	Reset Existing Granite Curb	\$85.00	\$178,500.00	\$35.00	\$73,500.00	\$45.00	\$94,500.00	\$35.00	\$73,500.00
611	8	EA	Tie Into Existing Water Main	\$3,500.00	\$28,000.00	\$4,000.00	\$32,000.00	\$5,500.00	\$44,000.00	\$15,000.00	\$120,000.00
611.01	1	LS	Temporary Water Main and Services	\$259,950.00	\$259,950.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
611.0521	200	LF	4" Cement Lined Ductile Iron Pipe (incl. fittings)	\$295.00	\$59,000.00	\$120.00	\$24,000.00	\$200,000.00	\$40,000.00	\$160.00	\$32,000.00
611.0521	10	LF	6" Cement Lined Ductile Iron Pipe (incl. fittings)	\$300.00	\$3,000.00	\$381.00	\$3,810.00	\$200.00	\$2,000.00	\$170.00	\$1,700.00
611.0521	1725	LF	8" Cement Lined Ductile Iron Pipe (incl. fittings)	\$305.00	\$526,125.00	\$188.00	\$324,300.00	\$200.00	\$345,000.00	\$200.00	\$345,000.00
611.0521	450	LF	12" Cement Lined Ductile Iron Pipe (incl. fittings)	\$335.00	\$150,750.00	\$228.00	\$102,600.00	\$210.00	\$94,500.00	\$220.00	\$99,000.00
611.5001	40	EA	Copper Corporation and Curb Stop - 1" Dia.	\$2,500.00	\$100,000.00	\$815.00	\$32,600.00	\$3,250.00	\$130,000.00	\$2,500.00	\$100,000.00
611.5001.5	1	EA	Copper Corporation and Curb Stop - 1.5" dia.	\$3,200.00	\$3,200.00	\$1,400.00	\$1,400.00	\$3,750.00	\$3,750.00	\$3,500.00	\$3,500.00
611.5001.5	1125	LF	Copper Water Service - 1" Dia.	\$275.00	\$309,375.00	\$1,400.00	\$213,750.00	\$25.00	\$28,125.00	\$50.00	\$56,250.00
611.5011.5	35	LF	Copper Water Service - 1 .5" Dia.	\$325.00	\$11,375.00	\$275.00	\$9,625.00	\$50.00	\$1,750.00	\$70.00	\$2,450.00
611.6012	1*	EA	12" Line Stop	\$16,800.00	\$16,800.00	\$22,000.00	\$22,000.00	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00
611.7104	2	EA	4" Gate Valve Assembly	\$2,700.00	\$5,400.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00	\$7,000.00	\$14,000.00
611.7106	1	EA	6" Gate Valve Assembly	\$2,800.00	\$2,800.00	\$1,900.00	\$1,900.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
611.7108	7	EA	8" Gate Valve Assembly	\$3,200.00	\$22,400.00	\$2,700.00	\$18,900.00	\$4,000.00	\$28,000.00	\$9,000.00	\$63,000.00
611.7112	5	EA	12" Gate Valve Assembly	\$4,900.00	\$24,500.00	\$4,600.00	\$23,000.00	\$6,000.00	\$30,000.00	\$11,000.00	\$55,000.00
611.81	5	EA	New Hydrant Assembly Complete (Incl. tee & valve & 6" lateral pipe)	\$10,950.00	\$54,750.00	\$9,000.00	\$45,000.00	\$15,000.00	\$75,000.00	\$10,000.00	\$50,000.00
611.83	5	EA	Remove Existing Hydrant and Valve Assembly Complete	\$3,800.00	\$19,000.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	\$250.00	\$1,250.00
611.85	1	EA	New 2" Flushing Hydrant Assembly Complete (Incl. tee & valve & 2" Cu)	\$12,975.00	\$12,975.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$6,000.00	\$6,000.00
611.9	4	EA	Adjust Existing Gate Valves (Final Adj. Only)	\$500.00	\$2,000.00	\$250.00	\$1,000.00	\$300.00	\$1,200.00	\$250.00	\$1,000.00
612.106	1100	LF	6" PVC Sewer Service Pipe (SDR35) (Incl. C/O & Connection)	\$325.00	\$357,500.00	\$275.00	\$302,500.00	\$100.00	\$110,000.00	\$230.00	\$253,000.00
612.108	1760	LF	8" PVC Sewer Pipe (SDR35)	\$275.00	\$484,000.00	\$290.00	\$510,400.00	\$250.00	\$440,000.00	\$350.00	\$616,000.00
613.01	14	EA	New Sewer Manhole	\$16,900.00	\$236,600.00	\$6,000.00	\$84,000.00	\$10,000.00	\$140,000.00	\$12,000.00	\$168,000.00
613.02	4	EA	Core & Boot Ex. SMH - Reconstruct Invert	\$5,900.00	\$23,600.00	\$2,600.00	\$10,400.00	\$1,000.00	\$4,000.00	\$1,200.00	\$4,800.00
613.03	1	EA	Drop Connection	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$1,400.00	\$1,400.00
613.04	13000	U	Allowance - Purchase SMH Frame & Cover from City	\$1.00	\$13,000.00	\$1.00	\$13,000.00	\$1.00	\$13,000.00	\$1.00	\$13,000.00
613.05	13	EA	Install SMH Frame & Cover	\$1,000.00	\$13,000.00	\$460.00	\$5,980.00	\$1,000.00	\$13,000.00	\$725.00	\$9,425.00
615.0071	30	EA	New Steel Sign Post	\$250.00	\$7,500.00	\$285.00	\$8,550.00	\$270.00	\$8,100.00	\$250.00	\$7,500.00
615.02	200	SF	New Traffic Sign	\$200.00	\$40,000.00	\$17.00	\$3,400.00	\$16.00	\$3,200.00	\$20.00	\$4,000.00
615.024	5	EA	Relocate Traffic Sign on New Post	\$550.00	\$2,750.00	\$284.00	\$1,420.00	\$270.00	\$1,350.00	\$250.00	\$1,250.00
618.6	25000	U	Uniformed Police Officers	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
						• • • •	. ,				

	618.7	30000	U	Uniformed Flaggers	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
1.00   1.00	619.1	1	LS	Maintenance of Traffic	\$95,000.00	\$95,000.00	\$4,000.00	\$4,000.00	\$222,000.00	\$222,000.00	\$40,000.00	\$40,000.00
Section   Color   Co	619.11	4500	LB	Calcium Chloride for Dust Control	\$1.25	\$5,625.00	\$1.00	\$4,500.00	\$1.00	\$4,500.00	\$1.00	\$4,500.00
	619.253	20	WK		\$485.00	\$9,700.00	\$250.00	\$5,000.00	\$250.00	\$5,000.00	\$300.00	\$6,000.00
623-116   700   TP   Throughstic Crosscale   \$3.50   \$1.500   \$1.000   \$1.000   \$2.75   \$1.955.00   \$2.200   \$2.200   \$2.200   \$4.000   \$1.000	628.2	5000	LF	Sawcut	\$2.50	\$12,500.00	\$2.00	\$10,000.00	\$1.00	\$5,000.00	\$2.00	\$10,000.00
633   12   230   15   12   12   12   12   13   15   12   13   13   13   13   13   13   13	632.0104	2500	LF	4" Paint Striping (Chlorinated Rubber Paint)(incl. Temporary)	\$1.50	\$3,750.00	\$1.20	\$3,000.00	\$1.40	\$3,500.00	\$1.00	\$2,500.00
Allowance - Reconstruct Existing Lundscaping	632.3106	700	LF	6" Thermoplastic Crosswalks	\$2.50	\$1,750.00	\$6.00	\$4,200.00	\$2.75	\$1,925.00	\$2.00	\$1,400.00
Act   Column   Colu	632.3112	320	LF	12" Thermoplastic Crosswalk & Stop Bars	\$4.00	\$1,280.00	\$12.00	\$3,840.00	\$8.00	\$2,560.00	\$7.00	\$2,240.00
Act   Column   Colu	640	12000	U	Allowance - Reconstruct Existing Landscaping	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00
1	640	2	EA	Tree Box filter	\$33,250.00	\$66,500.00		\$24,000.00	\$25,000.00	\$50,000.00	\$13,000.00	\$26,000.00
1	645	20	EA	Catch Basin Silt Sack	\$200.00	\$4,000.00	\$65.00	\$1,300.00	\$75.00	\$1,500.00	\$100.00	\$2,000.00
	645.7	1	LS	SWPPP	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$4,500.00	\$4,500.00
Post   1   1   1   1   1   1   1   1   1	645.71	80	HR	SWPPP Inspections	\$185.00	\$14,800.00	\$200.00	\$16,000.00	\$120.00	\$9,600.00	\$1.50	\$120.00
Part	646.51	250	SY	Turf Establishment w/ Mulch and Tackifier	\$95.00	\$23,750.00	\$3.50	\$875.00	\$30.00	\$7,500.00	\$0.10	\$25.00
Part	692	1	LS	Mobilization	\$345,000.00	\$345,000.00	\$424,000.00	\$424,000.00	\$200,000.00	\$200,000.00	\$225,000.00	\$225,000.00
Part	1010.2	17500	U	Asphalt Cement Adjustment	\$1.00	\$17,000.00	\$1.00	\$17,000.00	\$1.00	\$17,000.00	\$1.00	\$17,000.00
Both National Age   Both	<b>Total Base</b>	<b>Bid Price</b>	(sum o			\$6,654,625.00		\$4,694,305.00		\$4,610,260.00		\$4,935,985.00
20.22   65   57   Removal of Existing Drivewps and Aproms   \$45.00   \$32,00.00   \$1,300.00   \$1,300.00   \$3,										AWARDED		
20.5   4   F.   Removal of CB. Drop Inlets, and Manholes   \$3,400.00   \$13,000.00   \$2,000.00   \$10,000   \$10,000   \$16,000.00   \$16,000.00   \$20,000   \$2,000.0	Bid Alternat	e A										
203.1   365   CV   Cummon Excavation - Exploratory   \$30.0   \$12,775.00   \$32.00   \$7,300.00   \$30.00   \$7,300.00   \$30.00   \$7,300.00   \$30.00   \$7,300.00   \$30.0	202.22	65	SY	Removal of Existing Driveways and Aprons	\$45.00	\$2,925.00	\$20.00	\$1,300.00	\$50.00	\$3,250.00	\$12.00	\$780.00
206.1   10%   HR   Common Structure Execuration   \$500.0   \$5,000.0   \$1,100.0   \$1,100.0   \$5,00   \$0,000   \$2,100.0   \$0,000   \$2,100.0   \$	202.5	4	EA	Removal of CB, Drop Inlets, and Manholes	\$3,450.00	\$13,800.00	\$2,000.00	\$8,000.00	\$100.00	\$400.00	\$400.00	\$1,600.00
2006.   100	203.1	365	CY	Common Excavation	\$35.00	\$12,775.00	\$20.00	\$7,300.00	\$20.00	\$7,300.00	\$45.00	\$16,425.00
211.1   1   I. S. Vibration Monitoring Analysis   \$21,000.00   \$21,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$3,000.00   \$3,000.00   \$3,000.00   \$2,000.00	206.19	10*	HR	Common Structure Excavation - Exploratory	\$500.00	\$5,000.00	\$1,100.00	\$11,000.00	\$1,000.00	\$10,000.00	\$65.00	\$650.00
211.11   40   HR   Vibration Monitoring Services   \$85.00   \$3,400.00   \$33,000   \$5,200.00   \$25.00   \$31,000.00   \$50.00   \$2,000.00   \$21,000.0	206.2	100*	CY	Rock Structure Excavation	\$395.00	\$39,500.00	\$100.00	\$10,000.00	\$550.00	\$55,000.00	\$0.01	\$1.00
214   1450   SY   Fine Grade (Roudwy Base)   \$30,00   \$43,500.00   \$2.20   \$3,655.00   \$20,00   \$29,000.00   \$3.00   \$11,600.00   \$3	211.1	1	LS	Vibration Monitoring Analysis	\$21,000.00	\$21,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
214   65   SY   Fine Grade (Driveways and Sidewalk Base)   \$35.00   \$2,275.00   \$15.00   \$1,050.00   \$1,050.00   \$1,050.00   \$3,000.00   \$1,050.00   \$3,000.00   \$1,050.00   \$3,000.00   \$1,050.00   \$3,000.00   \$1,050.00   \$3,000.00	211.11	40	HR	Vibration Monitoring Services	\$85.00	\$3,400.00	\$130.00	\$5,200.00	\$25.00	\$1,000.00	\$50.00	\$2,000.00
304.3   5   C   Crushed Gravel in Place (Driveway and Sidewalk Base)   \$50.00   \$75.00   \$105.	214	1450	SY	Fine Grade (Roadway Base)	\$30.00	\$43,500.00	\$2.50	\$3,625.00	\$20.00	\$29,000.00	\$8.00	\$11,600.00
306.112	214	65	SY	Fine Grade (Driveways and Sidewalk Base)	\$35.00	\$2,275.00	\$7.50	\$487.50	\$2.00	\$130.00	\$20.00	\$1,300.00
306.212 875 CV Rehandle Reclaimed Based Material \$45.00 \$39,375.00 \$100.00 \$87,500.00 \$20.00 \$17,500.00 \$40.00 \$35,000.00   306.36 50° TN 1.5° Crushed Stone (Mixed w Reclaimer) \$49.00 \$24.00 \$20.00 \$40.00 \$20.00 \$15.00 \$35.00 \$175.00   403.11B 20 TN Machine Method, Binder (2.5° or 3.5°) \$130.00 \$16,900.00 \$242.00 \$31,460.00 \$155.00 \$20,150.00 \$135.00 \$17,550.00   403.12A 15 TN Hand Method \$230.00 \$34,000.00 \$242.00 \$31,460.00 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$31,500.0 \$145,500.00 \$30,000.0 \$250.00 \$31,460.00 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$250.00 \$37,500.0 \$37,500.0 \$37,500.0 \$37,	304.3	15	CY	Crushed Gravel in Place (Driveway and Sidewalk Base)	\$50.00	\$750.00	\$106.00	\$1,590.00	\$70.00	\$1,050.00	\$32.00	\$480.00
306.36   50"   TN   1.5" Crushed Stone (Mixed w/ Reclaimer)	306.112	1450	SY	12" Reclaimed Stabilized Base	\$12.50	\$18,125.00	\$3.00	\$4,350.00	\$15.00	\$21,750.00	\$8.00	\$11,600.00
403.11A   220   TN   Machine Method, Binder (2.5" or 3.5")   \$120.00   \$26,400.00   \$20.000   \$244,000.00   \$14.000   \$30,800.00   \$115.00   \$25,300.00   \$403.11B   130   TN   Machine Method, Wearing (1.5")   \$130.00   \$16,900.00   \$242.00   \$31,460.00   \$250.00   \$3,750.00   \$250.00   \$2,750.	306.212	875	CY	Rehandle Reclaimed Based Material	\$45.00	\$39,375.00	\$100.00	\$87,500.00	\$20.00	\$17,500.00	\$40.00	\$35,000.00
403.11B130TNMachine Method, Wearing (1.5")\$130.00\$130.00\$242.00\$31,460.00\$20,150.00\$20,150.00\$135.00\$17,550.00403.12A15TNHand Method\$230.00\$3,480.00\$250.00\$3,750.00\$250.00\$3,750.00\$265.00\$3,775.0063.822160LF6" Dia. HDPE Drain Pipe\$275.00\$16,500.00\$140.00\$8,400.00\$200.00\$12,000.00\$145.00\$8,600.00603.8221210LF12" Dia. HDPE Drain Pipe\$250.00\$52,500.00\$186.00\$39,660.00\$100.00\$200.00\$200.00\$200.00\$46,000.00604.00071EAPoly Liner for CB\$300.00\$300.00\$300.00\$135.00\$135.00\$250.00\$250.00\$150.00\$150.00604.00081EAFoly Liner for CB\$300.00\$500.00\$320.00\$320.00\$250.00\$250.00\$500.00\$500.00604.121EANew Catchbasin\$16,500.00\$16,500.00\$4,000.00\$7,500.00\$7,500.00\$8,000.00\$8,000.00604.621EANew Drain Manhole\$18,500.00\$1,600.00\$1,900.00\$1,900.00\$1,000.00\$8,000.00\$8,000.00604.721EAProvide and Install DMH Frame & Cover\$1,600.00\$1,600.00\$1,100.00\$1,000.00\$1,000.00\$10,000.00\$10,000.00\$10,000.00611.011EATentote Existing Water Main\$3,500.00\$3,500.	306.36	50*	TN	1.5" Crushed Stone (Mixed w/ Reclaimer)	\$49.00	\$2,450.00	\$42.00	\$2,100.00	\$25.00	\$1,250.00	\$35.00	\$1,750.00
403.12A   15   TN   Hand Method   \$230.00   \$3,450.00   \$250.00   \$3,750.00   \$250.00   \$3,750.00   \$265.00   \$3,975.00   \$603.8221   60   LF   6"Dia, HDPE Drain Pipe   \$250.00   \$250.00   \$140.00   \$8,400.00   \$200.00   \$12,000.00   \$145.00   \$8,700.00   \$100.00	403.11A	220	TN	Machine Method, Binder (2.5" or 3.5")	\$120.00	\$26,400.00	\$200.00	\$44,000.00	\$140.00	\$30,800.00	\$115.00	\$25,300.00
603.8221 60 LF 6" Dia. HDPE Drain Pipe \$275.00 \$16,500.00 \$140.00 \$8,400.00 \$200.00 \$12,000.00 \$145.00 \$8,700.00   603.8221 210 LF 12" Dia. HDPE Drain Pipe \$25.00 \$25,000.00 \$186.00 \$39,060.00 \$100.00 \$21,000.00 \$220.00 \$46,200.00   604.0007 1 EA Poly Liner for CB \$300.00 \$500.00 \$320.00 \$320.00 \$320.00 \$250.00 \$600.00 \$500.00 \$500.00   604.008 1 EA Reliminator Oil/Water Separator \$500.00 \$500.00 \$320.00 \$320.00 \$320.00 \$600.00 \$600.00 \$500.00 \$500.00   604.32 1 EA New Drain Manhole \$16,500.00 \$18,500.00 \$4,000.00 \$4,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$8,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 <	403.11B	130	TN	Machine Method, Wearing (1.5")	\$130.00	\$16,900.00	\$242.00	\$31,460.00	\$155.00	\$20,150.00	\$135.00	\$17,550.00
603.8221 210 LF 12" Dia. HDPE Drain Pipe \$25,00.00 \$52,500.00 \$186.00 \$39,060.00 \$100.00 \$21,000.00 \$220.00 \$46,200.00   604.0007 1 EA Poly Liner for CB \$300.00 \$300.00 \$330.00 \$135.00 \$250.00 \$250.00 \$150.00   604.0008 1 EA Eliminator Oil/Water Separator \$500.00 \$500.00 \$320.00 \$250.00 \$600.00 \$500.00 \$500.00   604.12 1 EA New Catchbasin \$16,500.00 \$18,500.00 \$4,000.00 \$4,000.00 \$7,500.00 \$8,000.00 \$500.00   604.32 1 EA New Drain Manhole \$18,500.00 \$18,500.00 \$4,000.00 \$6,000.00 \$8	403.12A	15	TN		\$230.00	\$3,450.00	\$250.00	\$3,750.00	\$250.00	\$3,750.00	\$265.00	\$3,975.00
604.0007 1 EA Poly Liner for CB \$300.00 \$300.00 \$135.00 \$135.00 \$250.00 \$250.00 \$150.00   604.0008 1 EA Eliminator Oil/Water Separator \$500.00 \$500.00 \$320.00 \$320.00 \$600.00 \$600.00 \$500.00   604.12 1 EA New Catchbasin \$16,500.00 \$16,500.00 \$4,000.00 \$4,000.00 \$7,500.00 \$7,500.00 \$8,500.00 \$8,500.00   604.32 1 EA New Drain Manhole \$18,500.00 \$18,500.00 \$6,000.00 \$6,000.00 \$8,000.00 \$8,000.00 \$10,000.00	603.8221	60	LF	6" Dia. HDPE Drain Pipe	\$275.00	\$16,500.00	\$140.00	\$8,400.00	\$200.00	\$12,000.00	\$145.00	\$8,700.00
604.0008 1 EA Eliminator Oil/Water Separator \$500.00 <td>603.8221</td> <td>210</td> <td>LF</td> <td>12" Dia. HDPE Drain Pipe</td> <td>\$250.00</td> <td>\$52,500.00</td> <td>\$186.00</td> <td>\$39,060.00</td> <td>\$100.00</td> <td>\$21,000.00</td> <td>\$220.00</td> <td>\$46,200.00</td>	603.8221	210	LF	12" Dia. HDPE Drain Pipe	\$250.00	\$52,500.00	\$186.00	\$39,060.00	\$100.00	\$21,000.00	\$220.00	\$46,200.00
	604.0007	1	EA	Poly Liner for CB	\$300.00	\$300.00	\$135.00	\$135.00	\$250.00	\$250.00	\$150.00	\$150.00
604.32 1 EA New Drain Manhole \$18,500.00 \$18,500.00 \$6,000.00 \$6,000.00 \$8,000.00 \$10,000.00	604.0008	1	EA	Eliminator Oil/Water Separator	\$500.00	\$500.00	\$320.00	\$320.00	\$600.00	\$600.00	\$500.00	\$500.00
604.62 1 EA Provide and Install DMH Frame & Cover \$2,200.00 \$1,900.00 \$1,900.00 \$1,000.00 \$1,000.00 \$800.00 \$800.00 \$004.72 1 EA Provide and Install CB Frame & Grate \$1,600.00 \$1,600.00 \$1,100.00 \$1,100.00 \$1,000.00 \$1,000.00 \$1,000.00 \$800.00 \$800.00 \$1,0	604.12	1	EA	New Catchbasin	\$16,500.00	\$16,500.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$8,500.00	\$8,500.00
604.72 1 EA Provide and Install CB Frame & Grate \$1,600.00 \$1,000.00 \$1,100.00 \$1,000.00 \$1,000.00 \$800.00 \$800.00 \$1,000.00 \$	604.32	1	EA	New Drain Manhole	\$18,500.00	\$18,500.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
611 1 EA Tie Into Existing Water Main \$3,500.00 \$3,500.00 \$3,500.00 \$5,500.00 \$5,500.00 \$15,000.00 \$15,000.00   611.01 1 LS Temporary Water Main and Services \$76,000.00 \$76,000.00 \$71,000.00 \$71,000.00 \$40,000.00 <	604.62	1	EA	Provide and Install DMH Frame & Cover	\$2,200.00	\$2,200.00	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00
611.01 1 LS Temporary Water Main and Services \$76,000.00 \$76,000.00 \$71,000.00 \$71,000.00 \$40,000.0	604.72	1	EA	Provide and Install CB Frame & Grate	\$1,600.00	\$1,600.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00
611.0521 610 LF 8" Cement Lined Ductile Iron Pipe (incl. fittings) \$305.00 \$186,050.00 \$207.00 \$126,270.00 \$150.00 \$91,500.00 \$180.00 \$109,800.00 \$11.500.00 \$11.500.00 \$1.500.0	611	1	EA	Tie Into Existing Water Main	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$15,000.00	\$15,000.00
611.5001 10 EA Copper Corporation and Curb Stop - 1" Dia. \$2,500.00 \$25,000.00 \$800.00 \$3,300.00 \$33,000.00 \$25,000.00 \$11.5011 145 LF Copper Water Service - 1" Dia. \$275.00 \$39,875.00 \$200.00 \$200.00 \$200.00 \$25,000.00 \$25,000.00 \$33,600.00	611.01	1	LS	Temporary Water Main and Services	\$76,000.00	\$76,000.00	\$71,000.00	\$71,000.00	\$40,000.00	\$40,000.00	\$40,000.00	
611.5011 145 LF Copper Water Service - 1" Dia. \$275.00 \$39,875.00 \$200.00 \$29,000.00 \$25.00 \$3,625.00 \$7,250.00	611.0521	610	LF	8" Cement Lined Ductile Iron Pipe (incl. fittings)	\$305.00	\$186,050.00	\$207.00	\$126,270.00	\$150.00	\$91,500.00	\$180.00	\$109,800.00
	611.5001		EA	Copper Corporation and Curb Stop - 1" Dia.	\$2,500.00	\$25,000.00	\$800.00	\$8,000.00	\$3,300.00	\$33,000.00	\$2,500.00	\$25,000.00
611.7108 1 EA 8" Gate Valve Assembly \$3,200.00 \$2,700.00 \$4,000.00 \$9,000.00		145		**	\$275.00	\$39,875.00	\$200.00	\$29,000.00	\$25.00	\$3,625.00	\$50.00	
	611.7108	1	EA	8" Gate Valve Assembly	\$3,200.00	\$3,200.00	\$2,700.00	\$2,700.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00

611.81	1	EA	New Hydrant Assembly Complete (Incl. tee & valve & 6" lateral pipe)	\$10,950.00	\$10,950.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
611.83	1	EA	Remove Existing Hydrant and Valve Assembly Complete	\$3,800.00	\$3,800.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
611.85	1	EA	New 2" Flushing Hydrant Assembly Complete (Incl.tee & valve & 2" Cu pipe)								\$6,000.00
	•			\$12,975.00	\$12,975.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$6,000.00	
612.106	175	LF	6" PVC Sewer Service Pipe (SDR35) (Incl. C/O & Connection)	\$325.00	\$56,875.00	\$260.00	\$45,500.00	\$200.00	\$35,000.00	\$230.00	\$40,250.00
612.108	500	LF	8" PVC Sewer Pipe (SDR35)	\$275.00	\$137,500.00	\$270.00	\$135,000.00	\$100.00	\$50,000.00	\$350.00	\$175,000.00
612.108	240	LF	8" PVC Sewer Pipe (SDR21)	\$275.00	\$66,000.00	\$225.00	\$54,000.00	\$200.00	\$48,000.00	\$360.00	\$86,400.00
613.01	3	EA	New Sewer Manhole	\$17,900.00	\$53,700.00	\$6,000.00	\$18,000.00	\$10,000.00	\$30,000.00	\$12,000.00	\$36,000.00
613.04	3000	U	Allowance - Purchase SMH Frame & Cover from City	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
613.05	3	EA	Install SMH Frame & Cover	\$1,000.00	\$3,000.00	\$460.00	\$1,380.00	\$1,000.00	\$3,000.00	\$725.00	\$2,175.00
618.7	7500	U	Uniformed Flaggers	\$1.00	\$7,500.00	\$1.00	\$7,500.00	\$1.00	\$7,500.00	\$1.00	\$7,500.00
619.1	1	LS	Maintenance of Traffic	\$24,500.00	\$24,500.00	\$49,000.00	\$49,000.00	\$40,000.00	\$40,000.00	\$7,500.00	\$7,500.00
619.11	500	LB	Calcium Chloride for Dust Control	\$1.25	\$625.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00
628.2	250	LF	Sawcut	\$2.50	\$625.00	\$3.00	\$750.00	\$1.00	\$250.00	\$2.00	\$500.00
640	1500	U	Allowance - Reconstruct Existing Landscaping	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00
645	3	EA	Catch Basin Silt Sack	\$200.00	\$600.00	\$65.00	\$195.00	\$75.00	\$225.00	\$100.00	\$300.00
692	1	LS	Mobilization	\$86,436.00	\$86,436.00	\$79,000.00	\$79,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
1010.2	2500	U	Asphalt Cement Adjustment	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
			Total Bid Alternate A Price (sum of all items above)		\$1,165,936.00		\$944,872.50		\$703,280.00		\$831,086.00
D' d'Albania											
Bid Alternate 403.12B	9 B	EA	C LT.11 (L.1 D	¢40 500 00	<b>#40</b> 500 00	405.000.00	405 000 00	ΦE 000 00	<b>#</b> F 000 00	444 000 00	\$11,000.00
	1	EA	Speed Table (Incl. Pavement Markings)	\$10,500.00	\$10,500.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$11,000.00	
615.0071	24	EA SF	New Steel Sign Post	\$250.00	\$500.00	\$285.00	\$570.00	\$270.00	\$540.00	\$250.00	\$500.00
615.02	24		New Traffic Sign	\$200.00	\$4,800.00	\$17.00	\$408.00	\$16.00	\$384.00	\$20.00	\$480.00
632.3106	-100	LF	6" Thermoplastic Crosswalks	\$2.50	-\$250.00	\$6.00	-\$600.00	\$2.75	-\$275.00	\$6.00	-\$600.00
632.3112	60	LF	12" Thermoplastic Crosswalk & Stop Bars	\$4.00	\$240.00	\$12.00	\$720.00	\$8.00	\$480.00	\$12.00	\$720.00
Total Bid Alternate B Price (sum of all items above)			,		\$15,790.00		\$26,098.00	V.	\$6,129.00	V	\$12,100.00
Addendum 1-3 acknowledged			Yes		Yes		Yes		Yes		
Bid Bond			Yes		Yes		Yes		Yes		

Karen Conard, City Manager Suzanne M. Woodland, Deputy City Manager/Regulatory Counsel Peter Rice, Public Works Director Marc Batchelder, Project Manager Elefteria Primpas, Procurement Coordinator